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LOGARITHMS

Illustration

1. If  and 
find  in terms of  and 

A. 

B. 

C. 

D. 

Answer: B

(log)3y = x (log)2z = x, 72x y z

yz3

y2z3

y3z2

y3z3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Qp0W4oK408f9


Watch Video Solution

2. , then bc =

A. a

B. 

C. 

D. 

Answer: D

Watch Video Solution

If = =
log10a

2

log10b

3

log10c

5

a2

a3

a4

3. If  is equal to

A. 2xy + 1

B. 2xy-1

C. 2x+1

log45 = x  and log56 = y,  then  log23

https://dl.doubtnut.com/l/_Qp0W4oK408f9
https://dl.doubtnut.com/l/_GYSH6Vgq0g6u
https://dl.doubtnut.com/l/_SoIEOzgqAh98


D. 2y + 1

Answer: B

Watch Video Solution

4. If , then  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = log0.10.001, y = log981 √x − 2√y

3 − 2√2

√3 − 2

√2 − 1

√2 − 2

5. If , then x is equal tolog3a × logax = 4

https://dl.doubtnut.com/l/_SoIEOzgqAh98
https://dl.doubtnut.com/l/_o2ELWrecxpSU
https://dl.doubtnut.com/l/_MzLuTh4bYPAA


A. 64

B. 81

C. 

D. 12

Answer: B

Watch Video Solution

a2

6. If a and b are positive real numbers other than unity, then the least

value of , is

A. 0

B. 1

C. 2

D. none of these

Answer: C

|logba + logab|

https://dl.doubtnut.com/l/_MzLuTh4bYPAA
https://dl.doubtnut.com/l/_r2ccAtVYXU49


Watch Video Solution

7. If a, b, c are positive real numbers, then 

A. 0

B. 1

C. 2

D. none of these

Answer: C

Watch Video Solution

+ + =
1

logababc

1

logbcabc

1

logcaabc

8. If  and  then  equals

A. 64

x = 27 y = log34, xy

https://dl.doubtnut.com/l/_r2ccAtVYXU49
https://dl.doubtnut.com/l/_ZWn4HLfLBgpL
https://dl.doubtnut.com/l/_rmDS1T93RXfE


B. 16

C. 

D. 

Answer: A

Watch Video Solution

3

7

1

16

9. The value of , is

A. 8

B. 3

C. 4

D. 9

Answer: D

Watch Video Solution

16log43

https://dl.doubtnut.com/l/_rmDS1T93RXfE
https://dl.doubtnut.com/l/_G1mJVej5qxnV


10. If , then x =

A. 3

B. 9

C. 27

D. none of these

Answer: C

Watch Video Solution

log3x + log9x
2 + log27x

3 = 9

11. The value of , is

A. 

B. 16

C. 

D. 

log8128

7
3

3

7

1

16

https://dl.doubtnut.com/l/_uBuGkm9mpVWR
https://dl.doubtnut.com/l/_sUuD6VrXA1KY


Answer: A

Watch Video Solution

12. The value of  is

A. 2

B. -1

C. 1

D. 0

Answer: D

Watch Video Solution

2log35

− 5log32

13. If  find the position of the first significant figure in log10 7 = 0.8451,

7− 20.

https://dl.doubtnut.com/l/_sUuD6VrXA1KY
https://dl.doubtnut.com/l/_eFbBazwoovfC
https://dl.doubtnut.com/l/_6BYEFozDfDnu


Section I Solved Mcqs

A. 15

B. 20

C. 17

D. 18

Answer: C

Watch Video Solution

1. If , then the minimum value of 

 is

A. 1

B. 2

C. 0

0 ≤ a ≤ x

logax + logx

https://dl.doubtnut.com/l/_6BYEFozDfDnu
https://dl.doubtnut.com/l/_MLoT1x0qc4sG


D. none of these

Answer: B

Watch Video Solution

2. If a, b, c are positive real numbers, then 

A. 0

B. 1

C. 

D. none of these

Answer: B

Watch Video Solution

alogb− logc × blogc− loga × cloga− logb

−1

https://dl.doubtnut.com/l/_MLoT1x0qc4sG
https://dl.doubtnut.com/l/_t9tSjXOd59Xc


3. The value of  is

A. 0

B. 

C. 1

D. none of these

Answer: C

Watch Video Solution

(bc)
log( )

⋅ (ca)log ( ) ⋅ (ab)
log( )b

c
c

a

a

b

−1

4. If

A. 2yz

B. 2xy

C. 2zx

x = (log)2aa, y = (log)3a2a, z = (log)4a3a, provethat1 + xyz = 2yz.

https://dl.doubtnut.com/l/_cA9kysT9PvXD
https://dl.doubtnut.com/l/_PUP9zVBcNdeu


D. none of these

Answer: A

Watch Video Solution

5. If a, b, c are positive real numbers then 

A. 0

B. 1

C. 2

D. 

Answer: B

Watch Video Solution

+ + =
1

1+logabc

1

1+logbca

1

1+logcab

−1

https://dl.doubtnut.com/l/_PUP9zVBcNdeu
https://dl.doubtnut.com/l/_8KF9HvPb9H8B


6. If


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = a andz = a , thenprovethatx = a
1

1 − (log )ax
1

1 − (log )ay
1

1 − (log )az

1

a1 − logaz

1

1 − logaz

1

1 + logza

1

1 − logza

7. If  then 

A. 

B. 

C. 

D. 

a = log2, b = log3, c = log7  and 6x = 7x+ 4 x =

4b

c + a − b

4c

a + b − c

4b

c − a − b

4a

a + b − c

https://dl.doubtnut.com/l/_CeK2U0PR0uh5
https://dl.doubtnut.com/l/_PzE6qx46Njro


Answer: B

Watch Video Solution

8. Given 
 prove

that
: 

A. 1

B. 2

C. 

D. 

Answer: B

Watch Video Solution

a2 + b2 = c2& a.0; b > 0; c > 0,  c − b ≠ 1,  c + b ≠ 1,

(log) c+b a + (log) c−b a = 2(log) c+b a
.

logc−b a

−1

−2

9. If  then 5x = (0. 5)y = 1000, − =
1

x

1

y

https://dl.doubtnut.com/l/_PzE6qx46Njro
https://dl.doubtnut.com/l/_5P4CBmQq7JOo
https://dl.doubtnut.com/l/_JlDAiqHThT3u


A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

1

3

1

4

10. If  then x =..

A. 

B. 

C. 

D. 1

Answer: B

Watch Video Solution

4x + 22x− 1 = 3x+ + 3x− ,
1
2

1
2

1

2

3

2

5

2

https://dl.doubtnut.com/l/_JlDAiqHThT3u
https://dl.doubtnut.com/l/_SikibegECmLk


Watch Video Solution

11. If  then xyz=

A. 2

B. 1

C. 0

D. 

Answer: B

Watch Video Solution

= =
logx

2a + 3b − 5c

logy

2b + 3c − 5a

log z

2c = 3a − 5b'

−1

12. 

A. 2

B. 10

C. 1

If logx = = , thtenx4y3z − 2 =
logy

2

log z

5

https://dl.doubtnut.com/l/_SikibegECmLk
https://dl.doubtnut.com/l/_ZuPMOz80PPYq
https://dl.doubtnut.com/l/_sXYuOd9NAQk6


D. 0

Answer: C

Watch Video Solution

13. If  then 

A. a = 24

B. b = 81

C. c= 64

D. c = 256

Answer: D

Watch Video Solution

loga = log b = log c
1

2

1

5
a4b3c− 2 =

https://dl.doubtnut.com/l/_sXYuOd9NAQk6
https://dl.doubtnut.com/l/_E0z1xRXHpsPX


14. If , then show that 

A. 2bc-1

B. 2bc+1

C. bc-1

D. bc+1

Answer: A

Watch Video Solution

a = log24 12, b = log36 24, c = log48 36

1 + abc = 2bc

15. If a,b,c are any three consecutive integers , prove that

A. 

B. 

log(1 + ac) = 2 log b

logb

log( )
b

2

https://dl.doubtnut.com/l/_OOLl2XGgjnQy
https://dl.doubtnut.com/l/_Vgp8izhXj63S


C. 

D. 

Answer: D

Watch Video Solution

log(2b)

2logb

16. If 

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

= 4 + k + logab, thenk =
logax

logabx

−2

−3

https://dl.doubtnut.com/l/_Vgp8izhXj63S
https://dl.doubtnut.com/l/_3gHql24tDJP8


17. If  then which of the

following is correct?

A. 

B. 

C. xyz =x + y + z + 1

D. xyz = 1

Answer: A

Watch Video Solution

x = loga(bc), y = logb(ca)  and z = logc(ab),

+ + = 1
1

x + 1

1

y + 1

1

z + 1

+ + = 1
1

x − 1

1

y − 1

1

z − 1

18. 

A. 1

B. 

C. 

+ + + … + =
1

log2n

1

log3n

1

log4n

1

log43n

log43 !n

logn43!

https://dl.doubtnut.com/l/_Mydoq7vC1n5F
https://dl.doubtnut.com/l/_0TZnvcd94ynS


D. none of these

Answer: C

Watch Video Solution

19. If n is a natural number such that  where 

 are distinct primes then minimum value of  is:

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

n = P
a1

1 P
a2

2 P
a3

3 ...P ak
k

p1, p2, ...pk lnn

klog2

klog3

klog4

https://dl.doubtnut.com/l/_0TZnvcd94ynS
https://dl.doubtnut.com/l/_viL58vTX94Td


20. The number  is

A. an integer

B. a rational number

C. an irrational number

D. a prime number

Answer: C

Watch Video Solution

log2(7)

21. If in a right angled triangle, 
are the
lengths of sides and 
 is

the
 length of hypotenuse and 
 , then show that 

A. 1

B. 2

a and b c

c − b ≠ 1,  c + b ≠ 1

(log) c+b a + (log) c−b = 2(log) c+b a
.

logc−b a.

https://dl.doubtnut.com/l/_Xy4crcCTV2u3
https://dl.doubtnut.com/l/_9QaTRzbBdD6k


C. 

D. none of these

Answer: B

Watch Video Solution

1

2

22. If

then  equals

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

+ + + + …. + = (n )
1

log2a

1

log4a

1

log8a

1

log16a

1

log2na

n + 1

λ

λ

log2a

loga4

log2a
2

https://dl.doubtnut.com/l/_9QaTRzbBdD6k
https://dl.doubtnut.com/l/_csMUJGOdXrz0


23. If  is equal to

A. 

B. 

C. 2xy +1

D. 

Answer: D

Watch Video Solution

log45 = x  and log56 = y,  then  log23

1

2x + 1

1

2y + 1

1

2xy − 1

24. The value of  is

A. x

B. y

C. z

xlogxa× logay× logyz

https://dl.doubtnut.com/l/_csMUJGOdXrz0
https://dl.doubtnut.com/l/_Mj14TvVAXonI
https://dl.doubtnut.com/l/_azRkTt5lmNMs


D. a prime number

Answer: C

Watch Video Solution

25. If  are in H.P., where a, b, c, x belong to ,

then a, b, c are in

A. A.P

B. G.P

C. H.P

D. none of these

Answer: B

Watch Video Solution

logaxx, logbxx, logcxx (1, ∞)

https://dl.doubtnut.com/l/_azRkTt5lmNMs
https://dl.doubtnut.com/l/_13uysJLfWDLW


26. If  is a perfect square,

then  is equal to

A. 3

B. 4

C. 2

D. 1

Answer: C

Watch Video Solution

a(b − c)x2 + b(c − a)xy + c(a − b)y2 = 0

log(a + c) + log(a − 2b + c)

log(a − c)

27. If , then =

A. 

B. 

C. 

= =
loga

b − c

log b

c − a

log c

a − b
ab+ c. bc+a. ca+ b

abbcca = 1

aabbcc = 1

a√a b√b c√c = 1

https://dl.doubtnut.com/l/_XEONWyhZKvF6
https://dl.doubtnut.com/l/_3h3PBhDHEBuW


D. none of these

Answer: B

Watch Video Solution

28. The solution set of , is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log2|4 − 5x| > 2

(8/5, ∞)

(4/5, 8/5)

( − ∞, 0) ∪ (8/5, ∞)

https://dl.doubtnut.com/l/_3h3PBhDHEBuW
https://dl.doubtnut.com/l/_7VGVW6rzAqSq


29. The sum of the series 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log42 − log82 + log162 − log322 + …. ,

e2

loge2 + 1

loge3 − 2

1 − loge2

30. 
 in the lies in the interval-



b. 
c. 
d. 

A. 

B. 

(log)0 .3(x − 1) < (log)0 .09(x − 1)thenx

(2, ∞) (1, 2) ( − 2, − 1) ( − ∞, 2)

(2, ∞)

−2, − 1

https://dl.doubtnut.com/l/_1eBBAkRdnpjp
https://dl.doubtnut.com/l/_toI4js9p4nJZ


C. 

D. none of these

Answer: A

Watch Video Solution

(1, 2)

31. The values of x satisfying  lie in the interval

A. 

B. 

C. 

D. (1, 2)

Answer: B

Watch Video Solution

xlog5 > 5

(0, ∞)

(0, 1/5) ∪ (5, ∞)

(1, ∞)

https://dl.doubtnut.com/l/_toI4js9p4nJZ
https://dl.doubtnut.com/l/_XjvRbjzyue6B


32. The solution set of the equation 

 is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

logx2 × log2x2 = log4x2,

{2− √2, 2√2}

{ , 2}
1

2

{ , 4}
1

4

33. The set of real values of x satisfying 

, is

A. 

B. 

log0.2( ) ≤ 1
x + 2

x

( − ∞, − 5/2] ∪ (0, ∞)

[5/2, ∞)

https://dl.doubtnut.com/l/_vh8kEULEsO5q
https://dl.doubtnut.com/l/_wesssmnDyqqz


C. 

D. none of these

Answer: A

Watch Video Solution

( − ∞, − 2) ∪ (0, ∞)

34. Solve for 


 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x :

5logx + 5xlog 5 = 3 (a > 0)

2loga5

2− loga5

2− log5a

2log5a

https://dl.doubtnut.com/l/_wesssmnDyqqz
https://dl.doubtnut.com/l/_ckYwwpxvq47F
https://dl.doubtnut.com/l/_jNANWGOUp1RV


35. The number of solutions of  in the interval 

 is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

logsinx(2  tanx) > 0

(0, π/2)

36. The set of real values of x for which 

 is

A. 

B. 

C. 

2log√2 ( x− 1 ) > x + 5,

( − ∞, − 1) ∪ (4, ∞)

(4, ∞)

( − 1, 4)

https://dl.doubtnut.com/l/_jNANWGOUp1RV
https://dl.doubtnut.com/l/_XG5t5XiPB4jt


D. none of these

Answer: B

Watch Video Solution

37. The number of solutions of  is

A. 2

B. 0

C. 3

D. none of these

Answer: D

Watch Video Solution

log2(x + 5) = 6 − x,

38. The set of values of x for which , islogex >
x − 2

x

https://dl.doubtnut.com/l/_XG5t5XiPB4jt
https://dl.doubtnut.com/l/_aWvoQX8MLKGl
https://dl.doubtnut.com/l/_rj0DC7TbYFMT


A. 

B. 

C. R

D. 

Answer: D

Watch Video Solution

(1, ∞)

(1, 2)

(2, ∞)

39. The number of solutions of the equation 

 is

A. 0

B. 1

C. 2

D. 3

Answer: C

3log3| − x| = log3x
2,

https://dl.doubtnut.com/l/_rj0DC7TbYFMT
https://dl.doubtnut.com/l/_C1VmG5CmhSzh


Watch Video Solution

40. The number of values of x satisfying 

, is

A. 1

B. 2

C. 3

D. infinitely many

Answer: D

Watch Video Solution

1 + log5(x
2 + 1) ≥ log5(x

2 + 4x + 1)

41. The number of ordered pairs  satisfying

 and  is

A. 1

(x, y)

4(log2x
2)

2
+ 1 = 2log2y log2x

2 ≥ log2y,

https://dl.doubtnut.com/l/_C1VmG5CmhSzh
https://dl.doubtnut.com/l/_oUfOeVXHmcJX
https://dl.doubtnut.com/l/_aZyza8s7PCGK


B. 2

C. more than 2 but finite

D. infinite

Answer: D

Watch Video Solution

42.  has the value equal to

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

+ +
1

log√bc abc

1

log√ca abc

1

log√ab abc

1/2

https://dl.doubtnut.com/l/_aZyza8s7PCGK
https://dl.doubtnut.com/l/_RsdXcRmgWccv


43. The solution set of the equation 

, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log1 / 3(2x+ 2 − 4x) ≥ − 2

( − ∞, 2 − √13)

( − ∞, 2 + √13)

( − ∞, 2)

44. The value of 

 is

A. 

B. e

e
logex+ log√ex+ log3√e

x+ … . + log10√e
x,

x10

https://dl.doubtnut.com/l/_u6Gy9AGexfLo
https://dl.doubtnut.com/l/_LhLfSossvXgz


C. 

D. none of these

Answer: C

Watch Video Solution

x55

45. IF  then value of the expression 

 equals

A. 

B. 0

C. 1

D. 198

Answer: C

Watch Video Solution

x = 198!

+ + ... +
1

log2 x

1

log3 x

1

log198 x

−1

https://dl.doubtnut.com/l/_LhLfSossvXgz
https://dl.doubtnut.com/l/_3DnZNTIqg1MX
https://dl.doubtnut.com/l/_YlvfuzjljLiR


46. If  denotes the greatest integer function, then thevalue of natural

number n satisfying the equation

, is

A. 255

B. 256

C. 254

D. 313

Answer: A

Watch Video Solution

[. ]

[log2 1] + [log2 2] + [log2 3] + .... . + [log2 n] = 1538

47. The set of real values of  satisfying 

A. 

B. 

x log (x2 − 6x + 12) ≥ − 21
2

( − ∞, 2]

[2, 4]

https://dl.doubtnut.com/l/_YlvfuzjljLiR
https://dl.doubtnut.com/l/_W4Uoi8YRCp3o


C. 

D. none of these

Answer: B

Watch Video Solution

[4, ∞)

48. If  then  belongs to the interval

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log0.04(x − 1) ≥ log0.2(x − 1) x

(1, 2]

( − ∞, 2]

[2, ∞)

https://dl.doubtnut.com/l/_W4Uoi8YRCp3o
https://dl.doubtnut.com/l/_jTjKSSay6xea


49. If 

A. a

B. 

C. 1

D. none of these

Answer: B

Watch Video Solution

logax × log5a = logx5, a ≠ 1, a > 0,  then x =

5,
1

5

50. If  then the number of solutions of 

 is

A. 1

B. 2

C. 3

log0.5 sinx = 1 − log0.5 cos x,

x ∈ [ − 2π, 2π]

https://dl.doubtnut.com/l/_oCL3Ee6WBxTe
https://dl.doubtnut.com/l/_ibWtwysdZ0BU


D. 4

Answer: B

Watch Video Solution

51. If  are positive numbers in G.P then 

 are in

A. A.P

B. G.P

C. H.P

D. none of these

Answer: A

Watch Video Solution

x1, x2, x3, ...

logxn, logxn+ 1, logxn+ 2

https://dl.doubtnut.com/l/_ibWtwysdZ0BU
https://dl.doubtnut.com/l/_IbwJi3gVTmJB


52. If  and  then  lies in the interval

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

logcos x sinx ≥ 2 x ∈ [0, 3π] sinx

[ , 1]
√5 − 1

2

(0, ]
√5 − 1

2

[0, 1/2]

53. The number of values of x  that satisfy the

equation  is

A. 0

B. n

C. 2n

∈ [0, nπ], n ∈ Z

log | sin x | (1 + cos x) = 2

https://dl.doubtnut.com/l/_iShXstU04PbZ
https://dl.doubtnut.com/l/_Sl1Iv65QOZb1


D. none of these

Answer: A

Watch Video Solution

54. If  then x =

A. 1

B. 

C. 3

D. none of these

Answer: D

Watch Video Solution

9log3 ( log2x ) = log2x − (log2x)2 + 1,

1/2

55. If , then x hasx
{ ( log3x ) 2 + ( log3x ) − }

= √3
3
4

5
4

https://dl.doubtnut.com/l/_Sl1Iv65QOZb1
https://dl.doubtnut.com/l/_twhBI5WsqV48
https://dl.doubtnut.com/l/_1QcQRilc4eIJ


A. all integral values

B. two integral values and one irrational values

C. all irrational values

D. two rational values and an irrational value

Answer: D

Watch Video Solution

56. If  then x =

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

logcosxtanx + logsinxcotx = 0,

nπ + , n ∈ Z
π

4

2nπ + , n ∈ Z
π

4

2nπ − , n ∈ Z
3π

4

https://dl.doubtnut.com/l/_1QcQRilc4eIJ
https://dl.doubtnut.com/l/_E4ihmcSWKhoV


Watch Video Solution

57. The number of solutions of the equation 

 is

A. 0

B. 1

C. 2

D. infinitely many

Answer: A

Watch Video Solution

xlog√x
2x

= 4

58. If  then the number

of values of x, is

A. 0

log√3(sinx + 2√2cosx) ≥ 2, − 2π ≤ x ≤ 2π,

https://dl.doubtnut.com/l/_E4ihmcSWKhoV
https://dl.doubtnut.com/l/_b2xBDAoEhQAh
https://dl.doubtnut.com/l/_diL5ca8194W9


B. 3

C. infinite

D. none of these

Answer: D

Watch Video Solution

59. The least value of the expression 
 for 


is
10 (b) 2
(c) 
(d) 4

A. 1

B. 2

C. 4

D. none of these

Answer: C

Watch Video Solution

2(log)10x − (log)x(0, 01).

x > 1, −0. 01

https://dl.doubtnut.com/l/_diL5ca8194W9
https://dl.doubtnut.com/l/_mpHKUkEXPWzZ


60. The number of zeroes coming immediately after the decimal point in

the value of  is : Given )

A. 16

B. 17

C. 18

D. none of these

Answer: B

Watch Video Solution

(0.2)25 log10 2 = 0.30103

61. If , then the number values of x which are

integral multiples of  ,is

A. 6

B. 12

log sinx > 0, x ∈ [0, 4π]1

√2

π

4

https://dl.doubtnut.com/l/_mpHKUkEXPWzZ
https://dl.doubtnut.com/l/_5Bl2ktUrJYN1
https://dl.doubtnut.com/l/_QsNfzImOhAjZ


C. 3

D. none of these

Answer: A

Watch Video Solution

62. The value of  is equal to

A. 10

B. 1

C. 0

D. none of these

Answer: C

Watch Video Solution

89

∑
r= 1

log10(tan( ))
πr

180

https://dl.doubtnut.com/l/_QsNfzImOhAjZ
https://dl.doubtnut.com/l/_DNqJDA51bImM
https://dl.doubtnut.com/l/_Drk6lEONOaxL


63. If [x] denotes the greatest integer less than or equal to x, then

A. 6

B. 4

C. 5

D. none of these

Answer: D

Watch Video Solution

[log106730.4] =

64. If , then the value of 

 is equal to

A. 0

B. 1

C. 2

an > an− 1 > …. > a2 > a1 > 1

loga1
loga2

loga3
…. logan

https://dl.doubtnut.com/l/_Drk6lEONOaxL
https://dl.doubtnut.com/l/_GLgmGjYZoWwr


D. none of these

Answer: B

Watch Video Solution

65. If  then 

A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

n = 1999!
1999

∑
x= 1

logn x =

1999√1999

−1

https://dl.doubtnut.com/l/_GLgmGjYZoWwr
https://dl.doubtnut.com/l/_FwkdwId6xwF8


66. Let 
 An integer 
 satisfying 

must be less than ..........

A. 1

B. 2

C. 0

D. 

Answer: A

Watch Video Solution

a = (log)3(log)32. k 1 < 2−k+ 3 ( − a)

< 2,

−1

67. If  then the minimum

value of  for all  is

A. 2500

B. 3000

log10(x
3 + y3) − log10(x

2 + y2 − xy) ≤ 2

xy x ≥ 0, y ≥ 0

https://dl.doubtnut.com/l/_B1QulkqhfOw4
https://dl.doubtnut.com/l/_8gREdCcQcb23


C. 1200

D. 3500

Answer: A

Watch Video Solution

68. The value of

 is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

6 + log
⎛
⎜
⎜
⎝




⎷

4 −


⎷

4 − √4 − .... .
⎞
⎟
⎟
⎠

3
2

1

3√2

1

3√2

1

3√2

1

3√2

https://dl.doubtnut.com/l/_8gREdCcQcb23
https://dl.doubtnut.com/l/_OVakC1Akac4s


69. If  then x can not be equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3x = 4x− 1

2log32

2log32 − 1

2

2 − log23

1

1 − log43

2log23

2log23 − 1

70. For the system of equation 

 


 


 


Which of the following is/are true?

log10(x
3 − x2) = log5y

2

log10(y
3 − y2) = log5z

2

log10(z
3 − z2) = log5x

2

https://dl.doubtnut.com/l/_OVakC1Akac4s
https://dl.doubtnut.com/l/_NsJB8CgQjNHi
https://dl.doubtnut.com/l/_y4txlcrBR7o4


Section Ii Assertion Reason Type

A. there are infinite number of solutions

B. there is unique solution with x,y, z Q

C. there are exactly two solutions with x, y, z Q

D. there is no solution

Answer: B

Watch Video Solution

∈

∈

1. Statement -1:  


Statement-2:  is a decreasing function when 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

0 < x < y ⇒ logax > logay, where0 < a < 1

logax 0 < a < 1.

https://dl.doubtnut.com/l/_y4txlcrBR7o4
https://dl.doubtnut.com/l/_gni81QGWyX3y


B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

2. Statement-1:  where  


Statement-2:  is an increasing function.

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

0 < x < y ⇒ logax > logay, a > 1

Whena > 1, logax

https://dl.doubtnut.com/l/_gni81QGWyX3y
https://dl.doubtnut.com/l/_CHjJfjOIJJw4


D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

3. Statement-1:  

Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

log10x < logπx < logex < log2x

x < y ⇒ logax > logay  when 0 < a < 1

https://dl.doubtnut.com/l/_CHjJfjOIJJw4
https://dl.doubtnut.com/l/_51g2EQ922DZD


4. Statement-1:  

Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

3log27 − 7log23 = 0

xlogay = ylogax,  where x > 0, y > 0  and a > 0, a ≠ 1

5. Statement-1: If

 
a = y2, b = z2  and c = x2,  then logax
3 × logby

3 × logcz
3 =

27
8

https://dl.doubtnut.com/l/_51g2EQ922DZD
https://dl.doubtnut.com/l/_DsXwnWhDV8Q2
https://dl.doubtnut.com/l/_l290IveNImiN


Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

Watch Video Solution

logba =
1

logab

6. Statement-1: The solution set of the equation

 Statement-2 : logx2 × log2x2 = log4x2is{2− √2, 2√2}.

logba =  and logaxy = logax + logay
1

logab

https://dl.doubtnut.com/l/_l290IveNImiN
https://dl.doubtnut.com/l/_Bgg8UQbXuGFa


A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

Watch Video Solution

7. Statemen-1: If , then the least value of 

.

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

x < 1

log2x
3 − logx(0.125)  is 6

https://dl.doubtnut.com/l/_Bgg8UQbXuGFa
https://dl.doubtnut.com/l/_3Q3hMhDQEMVr


B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

Watch Video Solution

8. Statement-1 : If  then x =-2 


Statement-2: 

A. Statement-1 is True, Statement-2 is true, Statement-2 is a correct

explanation for Statement-1.

B. Statement-1 is True, Statement-2 is true, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 is True, Statement-2 is False.

xlogx ( 3 −x ) 2

= 25,

alogax = x, ifa > 0, x > 0  and a ≠ 1

https://dl.doubtnut.com/l/_3Q3hMhDQEMVr
https://dl.doubtnut.com/l/_iywhWMVYaU22


Exercise

D. Statement-1 is False, Statement-2 is True.

Answer: D

Watch Video Solution

1. Find the value of 7 .

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

log( ) + 5 log( ) + 3 log( )
16

15

25

24

81

80

log2

log3

log5

https://dl.doubtnut.com/l/_iywhWMVYaU22
https://dl.doubtnut.com/l/_v4Px6wCLa59C
https://dl.doubtnut.com/l/_sqXvk4MkXw5I


2. The value of , is

A. 5

B. 2

C. 

D. 

Answer: C

Watch Video Solution

log49√7 + log25√5 − log4√2

log17.5

5

2

3

2

3. The value of  is

A. 

B. 1

C. 0

D. none of these

5√log
5
7 − 7√log7 5

log2

https://dl.doubtnut.com/l/_sqXvk4MkXw5I
https://dl.doubtnut.com/l/_UUZmCvH8Ud4g


Answer: C

Watch Video Solution

4. The value of  is

A. 

B. 1

C. 0

D. none of these

Answer: C

Watch Video Solution

2log37 − 7log32

log2

5. The value of , is

A. 3

3 + log343

2 + log( ) + log( )1
2

49
4

1
3

1
125

https://dl.doubtnut.com/l/_UUZmCvH8Ud4g
https://dl.doubtnut.com/l/_5FXXcUUqUwNC
https://dl.doubtnut.com/l/_NXLIg0OvhXYy


B. 2

C. 1

D. 

Answer: A

Watch Video Solution

3

2

6. If 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log303 = x, log305 = y, then log308 =

3(1 − x − y)

x − y + 1

1 − x − y

2(x − y + 1)

https://dl.doubtnut.com/l/_NXLIg0OvhXYy
https://dl.doubtnut.com/l/_23dAuZtnfrFO


7. If  are in A.P., where 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

logax, logbx, logcx x ≠ 1, thenc2 =

(ab)logab

(ac)logab

(ab)logba

(ac)logba

8. if  then 

A. 

B. 

C. 

D. 

a2 + 4b2 = 12ab, log(a + 2b)

(loga + logb − log2)
1

2

log + log + log2
a

2
b

2

(loga + logb + 4log2)
1

2

(loga − logb + 4log2)
1

2

https://dl.doubtnut.com/l/_zSRPfAVB2ELa
https://dl.doubtnut.com/l/_KQDYrUKZ3a7N


Answer: C

Watch Video Solution

9. If  then 

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

9a2 + 4b2 = 18ab, log(3a + 2b) =

log5 + log3 + loga + log5b

log5 + log3 + log3a + logb

log5 + loga + logb

10. The value of 

is

log5(1 + ) + log5(1 + ) + log5(1 + ) + …. + log5(1 + )
1

5

1

6

1

7

1

624

https://dl.doubtnut.com/l/_KQDYrUKZ3a7N
https://dl.doubtnut.com/l/_H5LToPOXVYrb
https://dl.doubtnut.com/l/_kT698c78HbAp


A. 5

B. 4

C. 3

D. 2

Answer: C

Watch Video Solution

11. If  then  is equal

to

A. 25

B. 26

C. 27

D. 28

Answer: C

log(x − y) − log 5 − logx − logy = 0
1

2

1

2
+

x

y

y

x

https://dl.doubtnut.com/l/_kT698c78HbAp
https://dl.doubtnut.com/l/_OO66k74hJCu4


Watch Video Solution

12. If , then k =

A. 

B. 

C. 3

D. 2

Answer: B

Watch Video Solution

2log103√3 = 3klog102

1

2

3

2

13. If  then the least positive integer 'n' such that 

 is

A. 1

B. 6

log10 343 = 2.5353

7n > 105

https://dl.doubtnut.com/l/_OO66k74hJCu4
https://dl.doubtnut.com/l/_rTpjpxNdt8O6
https://dl.doubtnut.com/l/_8KlCqK3aFKgf


C. 5

D. 4

Answer: B

Watch Video Solution

14. If 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log102 = 0.3010, then log564 =

602

233

233

602

202

633

633

202

https://dl.doubtnut.com/l/_8KlCqK3aFKgf
https://dl.doubtnut.com/l/_qI6JbUH3AzyJ


15. If 

A. 4

B. 9

C. 83

D. 10

Answer: D

Watch Video Solution

4log93 + 9log24 = 10logx83, thenx =

16. Find the value of 

A. 890

B. 860

C. 857

D. none of these

3 + 27 + 81
4

log2 9
1

log49 9
1

log4 3

https://dl.doubtnut.com/l/_MD4bCIxyS6gl
https://dl.doubtnut.com/l/_ma65Say7RqVJ


Answer: C

Watch Video Solution

17. The value of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

log√2√2√2√2√2

15

16

7
16

15

8

31

32

18. The value of , is

A. 

a
logb ( logbx )

logba

logax

https://dl.doubtnut.com/l/_ma65Say7RqVJ
https://dl.doubtnut.com/l/_pOItw5ooiULm
https://dl.doubtnut.com/l/_Jk77W7btFLzI


B. 

C. 

D. 

Answer: B

Watch Video Solution

logbx

logxa

logxb

19. The value of , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

loga(logba)

logb(logab)

logba

logab

−logab

−logba

https://dl.doubtnut.com/l/_Jk77W7btFLzI
https://dl.doubtnut.com/l/_QAonNifrOv9L


20. If , then x equals to

A. 8

B. 4

C. 2

D. 16

Answer: A

Watch Video Solution

log2x + log4x + log16x =
21

4

21. If , then x =

A. 4

B. 8

C. 12

D. 4, 8

log10{98 + √x2 − 12x + 36} = 2

https://dl.doubtnut.com/l/_hLY7t21w2WeX
https://dl.doubtnut.com/l/_8EwgOt8PoawA


Answer: D

Watch Video Solution

22. If  then 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ax = by = cz = dw loga(bcd) =

( + + )
1

x

1

y

1

z

1

w

x( + + )
1

y

1

z

1

w

y + z + w

x

23. If  then the value of x, is

A. 32

log5(log5(log2x)) = 0

https://dl.doubtnut.com/l/_8EwgOt8PoawA
https://dl.doubtnut.com/l/_C31NI68Ive0F
https://dl.doubtnut.com/l/_YkxKGO63MDII


B. 125

C. 625

D. 125

Answer: A

Watch Video Solution

24. The number of solutions of the equation ,

is

A. 3

B. 1

C. 2

D. 0

Answer: B

Watch Video Solution

log4(x − 1) = log2(x − 3)

https://dl.doubtnut.com/l/_YkxKGO63MDII
https://dl.doubtnut.com/l/_gI6Qgzaufswb


25. If  


 


, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log2a + log4b + log4c = 2

log9a + log3b + log9c = 2

log16a + log16b + log4c = 2

a = , b = , c =
2

3
27
8

32

3

a = , b = , c =
27
8

2

3

32

3

a = , b = , c =
32

3
27
8

2

3

a = , b = , c =
2

3

32

3
27
8

26. If , then x equal to

A. y

B. 

y = 21 / logx8

y2

https://dl.doubtnut.com/l/_gI6Qgzaufswb
https://dl.doubtnut.com/l/_TGYwZgKjOjO4
https://dl.doubtnut.com/l/_NoIm5R7HPp5I


C. 

D. none of these

Answer: C

Watch Video Solution

y3

27. If , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

logyx = logzy = logxz

x < y < z

x > y ≥ z

x < y ≤ z

x = y = z

https://dl.doubtnut.com/l/_NoIm5R7HPp5I
https://dl.doubtnut.com/l/_35nZlBVYRneJ


28. If  then find the value of x

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

32x+ 1 ⋅ 4x− 1 = 36

log3648

log4836

log2412

log1224

29. If , then

A. 2

B. 3

C. 4

D. 5

logx{log4(logx(5x2 + 4x3))} = 0

https://dl.doubtnut.com/l/_LXTlrA9OUeP4
https://dl.doubtnut.com/l/_LXAPyEopJc1h


Answer: D

Watch Video Solution

30. If , then x =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= − 2
1

logx10

2

loga10

a

2

a

100

a2

10

a2

100

31. If 

A. 

log1227 = a, then log616 =

3 − a

3 + a

https://dl.doubtnut.com/l/_LXAPyEopJc1h
https://dl.doubtnut.com/l/_Yh1WK1oF1ni3
https://dl.doubtnut.com/l/_AyAJBRqTjZQD


B. 

C. 

D. 

Answer: B

Watch Video Solution

4( )
3 − a

3 + a

3( )
4 − a

4 + a

3( )
4 + a

4 − a

32. If 

A. 1

B. 2

C. 

D. 

Answer: C

Watch Video Solution

(4.2)x = (0.42)y = 100,  then − =
1

x

1

y

1

2

−1

https://dl.doubtnut.com/l/_AyAJBRqTjZQD
https://dl.doubtnut.com/l/_oSnGmuvu4Gyl


33. If , then x =

A. 

B. 2y

C. y

D. 

Answer: A

Watch Video Solution

log8x = 25  and log2y = 50

y3 / 2

y

2

34. If , then x =

A. 1

B. 3

C. 2

D. 4

loge2. logx27 = log108. loge10

https://dl.doubtnut.com/l/_4DnILbKuWL05
https://dl.doubtnut.com/l/_Y6ElxOZ2e6He


Answer: B

Watch Video Solution

35. If , then x equals to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 + log5x = 2log25y

y

125

y

25

y2

25

3 −
y2

25

36. If , then ca equals

A. 2b

= =
loga

3

logb

4

logc

5

https://dl.doubtnut.com/l/_Y6ElxOZ2e6He
https://dl.doubtnut.com/l/_jSdNYkfpLNJe
https://dl.doubtnut.com/l/_SW5nTQlwkpQh


B. 

C. 8b

D. 4b

Answer: B

Watch Video Solution

b2

37.  then x belongs to

A. (0, 3)

B. (1, 3)

C. (1, 2)

D. (0, 2)

Answer: C

Watch Video Solution

2x × 32x = 100

https://dl.doubtnut.com/l/_SW5nTQlwkpQh
https://dl.doubtnut.com/l/_sgSh0fmMsU4C


38. If , then x equals to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2log10x = 1000x

10, √10

10− 1, 10√10

10√10

√10

39. If  equals to

A. 

B. 

C. 

D. 

log105 = x,  then log51250

3 −
1

x

2 +
1

x

3 +
1

x

2 −
1

x

https://dl.doubtnut.com/l/_BLlhWUCaKuxF
https://dl.doubtnut.com/l/_sAtMCb6XEeuw


Answer: C

Watch Video Solution

40. If , then x equals to

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

53x2log102 = 2
(x+ ) log10251

2

1, −
1

3

1, −
1

2

− , 1
1

3

41. If , then x equals to

A. 

logx(4xlog5x + 5) = 2log5x

4, 5

https://dl.doubtnut.com/l/_sAtMCb6XEeuw
https://dl.doubtnut.com/l/_KJFCOhP8kiK8
https://dl.doubtnut.com/l/_Wz85lGES4P6x


B. 

C. 

D. 

Answer: D

Watch Video Solution

−1, 5

4, − 1

5,
1

3

42. The equation  can be written as

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

logex + loge(1 + x) = 0

x2 + x − 1 = 0

x2 + x + 1 = 0

x2 + x − e = 0

x2 + x + e = 0

https://dl.doubtnut.com/l/_Wz85lGES4P6x
https://dl.doubtnut.com/l/_tRDwy452uCoB


43. If x =  and y = , which one of the following is correct?

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

log3(5) log17(25)

x < y

x = y

x > y

44. If  then which of the

following is correct?

A. 

B. 

C. xyz =1

x = loga(bc), y = logb(ca)  and z = logc(ab),

x + y + z = 1

+ + = 1
1

1 + x

1

1 + y

1

1 + z

https://dl.doubtnut.com/l/_uv9JnXuPSKnx
https://dl.doubtnut.com/l/_F5HPiJzmxRbM


D. none of these

Answer: B

Watch Video Solution

45. The value of , is

A. 2

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

log2log2log4256 + 2log√22

46.  then value of = =
loga

y − z

log b

z − x

log c

x − y
abc =

https://dl.doubtnut.com/l/_F5HPiJzmxRbM
https://dl.doubtnut.com/l/_r8bARhVf33Sc
https://dl.doubtnut.com/l/_ti02RmH8gsdH


A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

−1

47. If , then x is:

A. a rational number such that 

B. an irrational number such that 

C. a rational number such that 

D. a prime number of the form 

Answer: B

Watch Video Solution

log27 = x

0 < x < 2

2 < x < 3

2 < x < 3

7x + 2

https://dl.doubtnut.com/l/_ti02RmH8gsdH
https://dl.doubtnut.com/l/_IcBc3g4zKeHf


Watch Video Solution

48. If , then x =

A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 =
3

log3x
1

64

1

3

1

√3

−
1

√3

49. If  then ab+bc+ca

=

A. 0

B. 2abc

a = 1 + logxyz, b = 1 + logyzx, c = 1 + logzxy,

https://dl.doubtnut.com/l/_IcBc3g4zKeHf
https://dl.doubtnut.com/l/_rbL0YPfIWTbr
https://dl.doubtnut.com/l/_Of82cCGNCUZC


C. abc

D. 

Answer: C

Watch Video Solution

a2 + b2 + c2

50. If  then 

A. 0

B. 

C. 1

D. 2

Answer: C

Watch Video Solution

= = ,
logx

a2 + ab + b2

logy

b2 + bc + c2

log z

c2 + ca + a2

xa− b ⋅ yb− c ⋅ zc−a =

−1

https://dl.doubtnut.com/l/_Of82cCGNCUZC
https://dl.doubtnut.com/l/_BcgpHVDddeMW
https://dl.doubtnut.com/l/_5S8xKTRUGXF0


51. If  then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

log(2a − 3b) = loga − log b, a =

3b2

2b − 1

3b

2b − 1

b2

2b + 1

3b2

2b + 1

52. If 

A. 0

B. 2

C. 1

D. none of these

= = ,  then 3x+y5y+z7z +x =
log3

x − y

log5

y − z

log7

z − x

https://dl.doubtnut.com/l/_5S8xKTRUGXF0
https://dl.doubtnut.com/l/_d9eZgBXdU2HK


Answer: C

Watch Video Solution

53. 

A. 3

B. 4

C. 5

D. 

Answer: C

Watch Video Solution

= =  and a− 3b− 4c = 1  then λ =
log2a

3

log2b

4

log2c

5λ

−5

54. if  then find the value of 

A. 0

= =
loga

b − c

log b

c − a

log c

a − b
aabbcc

https://dl.doubtnut.com/l/_d9eZgBXdU2HK
https://dl.doubtnut.com/l/_KfsgQlc2eWPG
https://dl.doubtnut.com/l/_oo5XmexnoUMj


B. 1

C. abc

D. none of these

Answer: B

Watch Video Solution

55. The value of , is

A. 0.16

B. 1

C. 0.4

D. 4

Answer: D

Watch Video Solution

(0.16)
log0.25 ( + + + … .to ∞ )1

3
1

32
1

33

https://dl.doubtnut.com/l/_oo5XmexnoUMj
https://dl.doubtnut.com/l/_I4OnZyKoaY9I


56. if  then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 + 4b2 = 12ab, log(a + 2b)

(loga + logb − log2)
1

2

log + log + log2
a

2
b

2

(loga + logb + 4log2)
1

2

(loga − logb + 4log2)
1

2

57. Find the value of 7 .

A. log2

B. log3

C. 1

D. 0

log( ) + 5 log( ) + 3 log( )
16

15

25

24

81

80

https://dl.doubtnut.com/l/_I9zHAmRkwlGG
https://dl.doubtnut.com/l/_bOGkO3FVtZ26


Answer: A

Watch Video Solution

58. If  then :

A. x+y = 0

B. x-y =0

C. xy =1

D. 

Answer: B

Watch Video Solution

logx + logy + log 2 = log(x + y)
1

2

1

2

x2 + xy + y2 = 0

59. The number of real solutions of the equation

, islog( − x) = 2log(x + 1)

https://dl.doubtnut.com/l/_bOGkO3FVtZ26
https://dl.doubtnut.com/l/_DLD4yC61hvY3
https://dl.doubtnut.com/l/_ChxCRBAb9lSO


A. 0

B. 1

C. 2

D. 4

Answer: B

Watch Video Solution

60. The solution of the equation , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

logπ(log2(log7x)) = 0

72

π2

22

https://dl.doubtnut.com/l/_ChxCRBAb9lSO
https://dl.doubtnut.com/l/_2Xh8uDjprk9Q


Watch Video Solution

61. If , then x =

A. 4

B. 64

C. 32

D. 8

Answer: C

Watch Video Solution

log42 + log44 + log416 + log4x = 6

62. The number of real values of the parameter k for which the equation

 with real coefficients will have exactly

one solution, is

A. 2

(log16x)2 − log16x + log16k = 0

https://dl.doubtnut.com/l/_2Xh8uDjprk9Q
https://dl.doubtnut.com/l/_3lefKlgzA8zM
https://dl.doubtnut.com/l/_6WD8aa3MSJxw


B. 1

C. 4

D. none of these

Answer: B

Watch Video Solution

63. If 
then find the value of 

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

ax = b, by = c, cz = a, xyz.

https://dl.doubtnut.com/l/_6WD8aa3MSJxw
https://dl.doubtnut.com/l/_BCTK5VEsdd5h


64. The value of , is

A. 0

B. 1

C. log abc

D. 10

Answer: B

Watch Video Solution

logba × logcb × logac

65. If  then the value of  is

A. 

B. 

C. 

D. 

logaab = x, logbab,

x − 1

x

x

x − 1

x

x + 1

x + 1

x

https://dl.doubtnut.com/l/_kC3hgcDYykDB
https://dl.doubtnut.com/l/_geu3e0tAgBn6


Answer: B

Watch Video Solution

66. If , then the value of  is

A. 2

B. 

C. 

D. 0

Answer: C

Watch Video Solution

x = − 2 log4( ) − 2log4(4x4),
x2

4

−4

−6

67. The value of , is

A. 

√4 × log0.52

−2

https://dl.doubtnut.com/l/_geu3e0tAgBn6
https://dl.doubtnut.com/l/_iXq49oApVRFu
https://dl.doubtnut.com/l/_DZGlTH4lrwi6


Chapter Test

B. 

C. 2

D. none of these

Answer: B

Watch Video Solution

√−4

1. If , then x equals to

A. 2

B. 3

C. 5

D. 6

Answer: A

x ( log2x− 3 ) =
3
2

1

8

https://dl.doubtnut.com/l/_DZGlTH4lrwi6
https://dl.doubtnut.com/l/_WA49ZwkOwLtU


Watch Video Solution

2. If , then x lies in the interval

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

log4(3x2 + 11x) > 1

( − 4, 1/3)

( − 4, 2)

[ − 4, 1/3]

( − ∞, − 4) ∪ (1/3, ∞)

3. If , then x =

A. 

B. 

log6(x + 3) − log6x = 2

1

35

3

35

https://dl.doubtnut.com/l/_WA49ZwkOwLtU
https://dl.doubtnut.com/l/_NDd3CUqOjInk
https://dl.doubtnut.com/l/_EXb1gnJyMVHG


C. 

D. 

Answer: B

Watch Video Solution

2

35

−
3

35

4. If , then x =

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

2x.92x+ 3 = 7x+ 5

5log7 + 6log3

log162 − log7

5log7 − 6log3

log162 + log7

5log7 − 6log3

log162 − log7

https://dl.doubtnut.com/l/_EXb1gnJyMVHG
https://dl.doubtnut.com/l/_a6syTCg1sbAb


5. If  then x =

A. 3

B. 4

C. 2

D. none of these

Answer: B

Watch Video Solution

log7{log5(√x + 5 + √x)} = 0

6. If , then x =

A. 1

B. 

C. 

D. 

log6{log4(√x + 4 + √x)} = 0

5

4

7
4

9

4

https://dl.doubtnut.com/l/_4wqPWBidV6Q9
https://dl.doubtnut.com/l/_RKAOqHutrBar


Answer: D

Watch Video Solution

7. If , then x =

A. 1

B. 2

C. 4

D. 5

Answer: B

Watch Video Solution

xlogx (x
2 − 4x+ 5 ) = (x − 1)

8. If  then x =

A. 

log3{log6( )} = 0
x2 + x

x − 1

−1

https://dl.doubtnut.com/l/_RKAOqHutrBar
https://dl.doubtnut.com/l/_M1TGHRpztoCU
https://dl.doubtnut.com/l/_eXvyLr6M5BoT


B. 1

C. 3

D. 4

Answer: C

Watch Video Solution

9. If , then x equals to

A. 5

B. 4

C. 3

D. 2

Answer: D

Watch Video Solution

log8{log2log3(x
2 − 4x + 85)} =

1

3

https://dl.doubtnut.com/l/_eXvyLr6M5BoT
https://dl.doubtnut.com/l/_YSood4BzVAZa


10. If , then

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x = log23  and y = log1 / 25

x > y

x < y

x = y

11. If , then x equals to

A. 1

B. 2

C. 3

D. none of these

logx+ 2(x
3 − 3x2 − 6x + 8) = 3

https://dl.doubtnut.com/l/_4mdoT8MZ5Pya
https://dl.doubtnut.com/l/_utSWOAqEe2F3


Answer: D

Watch Video Solution

12. If , then find the value of .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(2.3)x = (0.23)y = 1000 −
1

x

1

y

1

5

1

4

1

3

1

2

13. If , then x equals to

A. 

10x− 1 + 10−x− 1 =
1

3

±log103

https://dl.doubtnut.com/l/_utSWOAqEe2F3
https://dl.doubtnut.com/l/_R5p7xvN0kdmx
https://dl.doubtnut.com/l/_9ql8VRSZy8vI


B. 

C. 

D. 

Answer: A

Watch Video Solution

2log310

log33

log210

14. 
is
 
b. 
c. 
d.

A. 1

B. 0

C. 3

D. 2

Answer: B

Watch Video Solution

(log)2(log)2(log)3(log)3273 0 1 2  3

https://dl.doubtnut.com/l/_9ql8VRSZy8vI
https://dl.doubtnut.com/l/_yNNGEvDJLCsz


15. If  then x =

A. 10

B. 16

C. 4

D. 6

Answer: D

Watch Video Solution

2log8a = x, log22a = y  and y − x = 4,

16. If  equals

A. 

B. 

C. 

D. 3y

log10x = y,  then log103x2

y
1

3

y
2

3

y
3

2

https://dl.doubtnut.com/l/_cAl6USxHfHd3
https://dl.doubtnut.com/l/_0sC3l3aLQUZE


Answer: B

Watch Video Solution

17. If , then y equals

A. 9

B. 18

C. 27

D. 81

Answer: A

Watch Video Solution

log3x × logx2x × log2xy = logxx
2

18. The number of solutions of  is

A. 2

log2(x − 1) = 2log2(x − 3)

https://dl.doubtnut.com/l/_0sC3l3aLQUZE
https://dl.doubtnut.com/l/_WP9jwKZndf03
https://dl.doubtnut.com/l/_1TYL9dwVGOcv


B. 1

C. 6

D. 7

Answer: B

Watch Video Solution

19. If , then the greatest integral value of is

A. 2

B. 3

C. 

D. none of these

Answer: A

Watch Video Solution

+ > x
1

log3π

1

log4π

π

https://dl.doubtnut.com/l/_1TYL9dwVGOcv
https://dl.doubtnut.com/l/_KZiAAjKKxaiR


20. Let  and  be a positive integer greater than . If 

 , then equals to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ∈ (1, ∞) n 1

fn(x) =
n

+ + ... +1
log2 x

1
log3 x

1
logn x

(n !)fn ( x )

nx

xn

nn

nnx

21. If , then x =

A. 

B. 

C. 

log2sinx − log2cosx − log2(1 − tan2x) = − 1

+ , n ∈ Z
nπ

2
π

8

nπ − , n ∈ Z
π

8

+ , n ∈ Z
nπ

4

π

2

https://dl.doubtnut.com/l/_vbgZfsBqgTbe
https://dl.doubtnut.com/l/_ynVNCa6a1Rtv


D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ynVNCa6a1Rtv

